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~gcdof 5.4and 4.2 = 0.6
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5 | 2x?—xy—6y?
x? —4xy + 4y?
2x% — 4xy + 3xy — 6y?
x? — 2xy — 2xy + 4y?

(2x + 3y)Ge—2%)
(x = 2y)e—23)
=(2x+3y)
(x-2y)
6 [ __ 1
T2
m,=2 (2,-1)
y = m(x — x value) + y value
y=2(x-2)—-1
y=2x-5
7 | (n—2)180 = 1260
n = 9 sides
= 360
ext4 =—
=40

8 |x—4y=-5
—x+2y=1




x-4y = -5
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Xx+2y=1
X|[-1]7
y|0 |4

X=3 and y=2

Sin (6+30)=cos 260
0+30+20=90

06=20

~ cos 60 = 0.5

10

0=60°=m/3 radians
Arc length=0r where 0 is in radians

=§xr+§x(r+7)+7+7=28§

11

) 30°

12

1dollar=sh 102.40
200000 dollars=?
200000dellars

1 x ksh 102.40
=ksh 20 480 000
100 Jap yen = ksh93.30

?=0.9(20480000)

_0.9(20480000) x 100 yen
93.3

=19 755 627.01 ~ 19755627




13 |8 =m/3 6 =360—60=300
6, =2m—~ length, b = — 2
22 3 arc length, __360'
! i’%F C ressor Kre nC\}}((a)lr'diozn;ro(i)tdlus j27 o
area:%gﬁmp i E=%x2x7x7
where 0 is in radians = 36§cm
1 5 1
=Ex§7rx7x7 area=5b.r
=128.28cm? — 1,362 %7
2 3
= 1287 cm?
~ 128.33 cm?
14 | 2+ 6.4tan 30
= 5.695
~57m
15 | hr min s
1 35 31
0 0 45
0 0 43
0 0 44
+0 0 45
1 38 28
=1.3828 pm
16 a)
b) Indirect congruent or opposite congruency
17 a)
i. Ko: Ki Al
0.2: 0.3: 0.5
Ki=30%of 1750000
=ksh. 525000
ii. 2:3:5
b) A = PR™where R = 1+r
=1750000(1.08%)
=2204496
Shared amount=90% x2204496
=1984046.4

Kosgei=0.2 x1984046.4
=sh. 396809

Kimani=0.3(1984046.4
=sh. 595214
Atieno=0.5 x1984046.4

=sh. 992023
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15cm

Total height =8+15+6
=29 cm

SA=rrl + 2nr? + 2nrh
= 3.142x 6x10 + 2x3.142x6% + 2x3.142x6x15
=188.52+565.56+226.224
= 980.304
~ 980.3 sq.cm

V=§xAh + nr’h + %nr3

= §x 3.142x36x8 + 3.142x36x15 + %x 3.142x 216

=2450.76 cubic cm
~2450.8cm?
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a)

b)

180km

hrs

. . 180km
pick up time = hrs
x+20

(i) lorry time =

.\ 180km  180km _ 3
) =0 =3
x2+20x —4800=0
(x—60)(x+80)=0
x = 60km/h or —80km/h
~x=60km/h
hence lorry = 60 km/h &
pick up = 80 km/h
distance pick up + distance lorry = 240 km
80(t —8.30 am) + 60 (t — 8.30 am) = 240
where t meeting time
140t — 680 — 510 = 240
t = 1013 hrs




20 | a.
b. (i) AD=22" x5 km
1icm
=43.5km+0.5
(i) bearing of A from D is 048° or N48°E
¢. Anapc =7x21x 255in45°
= 185.62 km?
1
Apacp = R 30 x43.5sin 18°
= 201.63km?
total area = 185.62 + 201.63
= 387.25km?
~ 387.3 km?
21 a)

A(Z24)

B (12,-4)
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(iii)INM| = VaZ + b2
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class tally f fd cf

100-199 1 4 0.04 4

200-249 HHH 6 0.12 10

250-399 HHOHE 12 | 0.08 22

400-599 HH HH 10 | 0.05 32

600-799 HH 6 0.03 38

800-849 Il 2 0.04 40
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350 students
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1 Median=374.5 |
PN R

0.10

0.05

P

SAKVALN
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0.0

g

151 ifi

399.5 499.5 599.5

c) (i) Median psn=40/2 =20" value
=10+ x X 0.08 = 20
x =125
Median=125+249.5
=374.5

(ii)49.5x0.084+ 10+ 6 + 2
= 21.96
~ 22 schools

699.5

799.5

899.5
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a3—&@—ﬂ=0
3-p?+ %p =0
2p2—p—6=0
(PDBfcmpyessgr Free Version

p=2o0r—15

x +30y = 70000... (i)
1.2 x + 40y = 88000 ... (i)
6x + 200y = 440000...(ii)

(i1 (é,'zg(go) (;C/) - (47400000000)
1,0y (X 10 —1.5\ 7 70000
(0,1)(y)::(—4L3005)(440000)
(x)__(40000)
y/) {1000
s~ x =40000and y = 1000

b. (i)

24

a) V=2t>—-7t—6ift=5
=2t2-7t-6
=9 m/s
b) V=2t%-7t-6 =0
—b+ Vb2 —4ac
b= 2a
7+ V72 + 4x2x6

2x2
=4.212so0r-0.7122 s
“t=4.212s

) &%3—§2—a+8ﬁt=4m2

S=2t3-2t2-6t + 8
=-37.5487 m

d)a=%=%—7ﬁt=4
=4x4-7
=9m/s?




